Worksheet 7

B

Brackets

Year 5

J I

Division Multiplication

Work out the brackets first

1.6.20

A S

Addition Subtraction

REMEMBER THE CORRECT ORDER

Division and next

Lastly addition and subtraction
(7x4)+9= (4x4)+10= (10x4)+8 =
(11x4)+5= (9x4)+7= (5x4)+12 =
(12x4)+4 = (6x4)+6= (2x4)+11=
(1x4)+20= (8x4)+9= (3x4)+12 =
(12x4) -6 = (1x4)-2= (10x4)-6=
(9x4)-8= (8x4)-4-= (11x4)-6=
(7x4)-10= (2x4)-5= (5x4)-4-=
(3x4)-9= (4x4)-11= (3x4)-11=

(6x4)+(2x4)=

(12x4)-(3x4)=

(12x4)+(8x4) =

(10x4)-(4x4)=

(1x4)+(11x4)=

(11x4)-(7x4)=




Worksheet 7 Answers

(7x4)+9=37

(4x4)+10=26

(10 x 4) + 8 = 48

(11x4)+5=49 (9x4)+7=43 (5 x 4) +12 = 32
(12x4)+4=52 |(6x4)+6=30 (2x4)+11=19
(1x4)+20=24 |(8x4)+9=41 (3x4)+12 =24
(12 x 4) -6 = 42 (1x4)-2=2 (10 x 4) - 6 = 34
(9x4)-8=28 (8x4)-4=28 (11x4)-6 =38
(7x4)-10=18 (2x4)-5=3 (5x4)-4=16

(3x4)-9=3 (4x4)-11=5 (3x4)-11=1

(6x4)+(2x4)=32

(12x4)-(3x4)=36

(12x4)+(8x4)=80

(10x4)-(4x4)=24

(1x4)+(11x4) =48

(11x4)-(7x4) =16




